Exercicio sobre
confiabilidade
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P(nao falhar) = P;(ndo falhar) X P,(nao falhar) X P;(nao falhar)

P(nao falhar) =(1-0,1) x (1 —-0,15) x (1 — 0,05) = 0,72675

P(falhar) =1 — P(nao falhar) = 0,27325 = 27%



Com redundancia (1)
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Com redundancia (2)
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Com redundancia (1)
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P(falhar) = P.;(falhar) X P,,(falhar) x P.3(falhar) = 0,273253 = 0,02042

P(falhar) = 2%



Com redundancia (2)

Ppiocor(falhar) = P;(falhar)? Ppiocoz (falhar) = P,(falhar)?3 Pyiocos(falhar) = P3(falhar)?
Pyioco1(falhar) = 1077 Pyiocos(Falhar) = 3,375 x 1073 Pbiocos(falhar) = 1,25 X 10~*
Componente 1 Componente 2 Componente 3
P, =01 p,=0,15 p; = 0,05

Componente 1 Componente 2 Componente 3
P, =01 p,=0,15 p;=0,05
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Pyioco1(falhar) = Py (falhar)3 Pyioco2(falhar) = P, (falhar)3 Ppiocos(falhar) = Py (falhaT)B

_ —4
Ppioco1 (falhar) = 1073 Ppiocor (falhar) = 3,375 x 1073 Ppiocos(falhar) = 1,25 x 10
Componente 1 Componente 2 Componente 3
P, =01 p,=0,15 p; = 0,05

Componente 1 Componente 2 Componente 3
P, =01 p,=0,15 p;=0,05

Componente 1 Componente 2 Componente 3
p,=0,1 p, =0,15 p; =0,05

P(nao falhar) = Py;,.01(Md0 falhar) X Ppiocor(ndo falhar) X Pyiyq03(ndo falhar)
P(ndo falhar) = (1 —1073) x (1 — 3,375 x 1073) x (1 — 1,25 X 10™%) = 0,995504
P(falhar) = 1 — P(nao falhar) = 0,004796 = 0,4%



